PDF Compressor Free Version

Boden

HIGH PRESSURE GEAR PUMP

BAP2.5[BHP2.5]

HOW TO ORDER
BA - P H 25 | Frontcover |- Rotation - Size || Shaft | Pors - Ports position |- Seals | Options

| | I | | |
Series P- Pump Group A0 D | Clockwise 11205
BA-Front and Al g | Counter "
end cover clockwise 16
material 18
aluminum R | Reversile 19

20

23

BH-Front and 25
end cover material %5
cast iron, 2

| pressure than

"BA"series high 3
30 bar. 32

36

40

45

Ports position

Omit-Side inlet and side outlet
A-Front inlet and front outlet
B-Back inlet and front outlet
C-Back inlet and side outiet
D-Side inlet and front outlet
R-Back inlet and back outiet

Seals

Omit-Range between -10°C and +80'C,inlet pressure up to max. 3 bar absoluts.
V-Version suitable for fluid at hi-temperatures, range between -107C and +120°C.
H-Version suitable for fluid at low-temperatures, range between -40C and +80°C.
T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.

N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.

$54/ Examples:
BAP2.5-A0-D-10-C0-Z0=  clockwise rotation, 10 cc/rev, AQ front cover, CO parallel shaft, setting ports Z0 type, standard seals

BHP2.5-A1-D-10-C1-F0= clockwise rotafion, 10 cc/rev, A1 front cover, C1 parallel shaft, setfing ports FO type, standard seals

BHP2.5-A2-D-10-53-U0-N= clockwise rotation, 10 cclrev, A2 front cover, SAE B splined 13T shaft{S3), setting ports U0 type, high pressure seals{N)



PDF Compressor Free Version

Boden
HIGH PRESSURE GEAR PUMP
BAP2.5A0
M18x1.5 thread depth 15,
M22x1.5 thread depth 16,
M27x2 thread depth 19,
M33x2 thread depth 20,
S To mount the pump, n.4 M12 screws,
with a torque wrench setting fixed
at 75...80 Nm,
OUTLET INLET
154 M 45
65 130 L
- 125
1 T 1
LA d ] / \ - - P
: N —
g C
A= = | S-H@H) N .
- 1 8 v ‘ (
'Q}i \ l ; *-__.// 1 §§
O~0 @ &
O 1 _'[_ O ]
6
d 92 D
8 &
Type Displacement Max pressure Max. speed Min. speed Dimensions
BAP2SA0-D-10 0 % | a0 | 20 800 " | 533 | M2u5 | Migx5
BAP2.5A0-D-12.5 125 250 270 20 800 113 548 M22x15 | MiBxi5
BAP2.5A0-D-14 14 250 210 290 700 115 558 M22x15 | Mi8x15
BAP2.5A0-D-16 16 250 270 200 3500 700 118 57.4 M2x2 | M22x15
BAP2.5A0-D-18 18 250 270 290 3500 600 120 563 M2 | M2x15
BAP2.5A0-D-19 19 250 210 290 3500 600 121 568 MeTx2 | M22xis
BAP2.5A0-D-20 2 250 270 290 3000 500 123 596 M27x2 | M22x15
BAP25A0D-23 23 230 250 260 3500 500 126 61.3 M2 | M
BAP2.5A0-D-25 % 230 250 260 3500 500 129 626 M2 | M2me
BAP25A0-D-265 %5 230 250 260 3500 500 131 636 M2 | M2me
BAP2.5A0-D-28 28 230 250 260 3500 500 133 646 M2 | M2
BAP25A0-DA0 20 230 250 260 3000 400 136 656 | Mm@ | Mre
BAP2.540-D-32 2 200 230 250 3000 400 138 67.1 Max2 | M2
BAP2.5A0-D-36 3 200 230 250 2750 400 142 601 MI2 | M2mxe
BAP2.5A0-D40 40 160 180 200 2500 400 148 716 M2 | M2
BAP2.5A0-D-46 45 160 180 200 2500 400 153 746 M3ax2 M272




PDF Compressor Free Version

Boden
HIGH PRESSURE GEAR PUMP
BAP2.5A1[BHP2.5A1]
M10x1.25 thread depth 15,
V
Screws tightening torque Nm
75..80
130..135
OUTLET INLET
130 M 2
65 106.4 L
Mi0x1.25 v M10x1.25 125
- E( m|
- ]
- ||
=5 = | |
g HEte o - LelF
= . = ] | o —|
oy @ O . = T oMo | L ”
: : B
=
=,
478 d D
a 90 A
5 A
Type Displacement Max pressure Max. speed Min. speed Dimensions
P1 P2 P3 M|L|A|[B|[D]al]b]d
BAP25A1-D-10 10 250 270 20 4000 800 10 | 533 |476 (222 | 20 [476 (222 | 13
BAP2.5A1-D425 125 20 270 290 4000 800 13 548 |476 (222 | 20 |476 (222 | 13
BAP2.5A1-D-14 14 250 270 20 4000 700 115 | 658 |476 (222 | 20 |476 222 | 13
BAP25A1-D-16 16 250 270 20 3500 700 118 | 571|476 (222 | 20 |476 (222 | 13
BAP2.5A1-D-18 18 250 27 290 3500 600 120 583 |524 262 | 25 |476 (222 | 20
BAP2.5A1-D-19 19 250 20 20 3500 600 121 | 588 |524 |262 | 25 |476 |222 | 20
BAP2.5A1-D-20 2 250 270 290 3000 500 123 | 506 |524 (262 | 25 |476 |22 | 20
BAP25A1D-23 B 20 250 20 3500 500 126 |613 |524 |32 | 25 [476 [222 | 20
BAP2.5A1-D-25 25 230 250 260 3500 500 129 |626 | 524 262 | 25 [476 |22 | 20
BAP25A1-D-26.5 %5 230 250 20 3500 500 131 |636 |524 |262 | 25 476 |222 | 20
BAP25A1-D-28 28 230 250 260 3500 500 133 | 646 |524 (262 | 25 |476 (222 | 20
BAP2.5A1-D-30 K] 20 250 260 3000 400 135 | 656 |524 (262 | 25 |476 222 | 20
BAP2.51-D-32 2 200 230 250 3000 400 138 671|524 262 | 25 |476 (22| 20
BAP25A1-D-36 3% 200 20 250 2750 400 142 | 69.1 |524 (262 | 25 |476 |22 | 20
BAP2 5A1-D40 40 160 180 200 2500 400 148 | 716 |524 (262 | 25 |476 (222 | 20
BAP2.5A1-D45 45 160 180 200 2500 400 163 | 746 | 524 (262 | 25 |476 (222 | 20




PDF Compressor Free Version

Max.Torque 210 Nm

Max.Torque 300 Nm

Boden
HIGH PRESSURE GEAR PUMP
BAP2.5(BHP2.5]
FRONT COVER SHAFTS
130 125 45 45
|28
2 w i |
L =) of L) -
& § T 6-20¢16%
[ A L H
Max.Torque 200 Nm Max.Torque 240 Nm
445 2 45
| 8 L 2 %
2 | !
g = e —— =
=
! gl & B8l g | g
=
= 478 1 418156
A [ (2]
Max.Torque 180 Nm Max.Torque 190 Nm Max.Torque 200 Nm
415 39 39
‘1| 25 mn 28 0. 23
| i |
A =l _E i _4%:‘
= |5 |
| 1 |
| ¥ a | =
r =
L 6-20x16x4 _ EXT122-15m-30° DP16/32-30° ~10T
]
Max.Torque 240 Nm Max.Torque 220 Nm Max.Torqgue 200 Nm
34 v
], 23 {2
| E i |
1 ;:J;I
| (3]
i3 i =
- =
DP16/32-30° 11T DP16/32-30° -13T
[ 8] 1




PDF Compressor Free Version

BAP2.5[BHP2.5]

PORTS

Boden

HIGH PRESSURE GEAR PUMP

BAHP25..10 + BAHP25.16

PORTS CODE

3
=

222 | M0x1.25

20 |476 |222

BA(HIP25..18 = BA(H)P25..45

262 | M10x1.25

% |476 |22

Alg)
Blb)
i

BA(H)P25..10 + BA(H)P25..16

BAIPES. 10 - BAHPZS.

TYPE

BA(H)P25..10 + BA(H)P25..14

PORTS CODE

20

INLET

M22x1.5

OUTLET

M18x1.5

BA(H)P25..16 + BA(H)P25..20

o

M22x1.5

BA(H)P25..23 + BA(HP25..45

2

M33x2

M27x2

BA(H)P25..10 + BA(H)P25..23

INLET

111612 UNF

7/8-14 UNF

BA(H)P25..25 + BAHP25..45

51612 UNF

1116120




PDF Compressor Free Version

Boden
HIGH PRESSURE GEAR PUMP
BAP2.5[BHP2.5]
PORTS
h TYPE PORTS CODE INLET QUTLET
[ R R R
BA(H)P2.5..10 + BA{H)P25...23 L0 G3/4 Gif2
 BAH)P25..25 < BAHIP25..45 5] 61 634
=
TYPE PORTS CODE INLET OUTLET
[ A e
BA(H)P25..10 + BA(H)P2.5..23 RO PT3/4 PT1/2
[ AR BAP25.25 + BAHP25. 45 Al P Pra4




